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Question |
Answers Grade
7+76 1+6 1 1
a= = ==+=+/5(0.25) + (0.25
! 14 7 3302+ (025) 0.5
2 a+l= 3+2\/§; a’= 3+2\/§ so a+l=a’ (0.25) + (0.5) + (0.25) 1
3_8+4\5 .
g | 2Bz =245 05
Ora’=a’.a= (a+tl)a= a’+a=a+l+a=2a +1(0.25) + (0.25)
Question 11
la | (x+2)2-1=x*+4x+4-1=x>+4x+3 0.5
1b | xX*+4x+3=(x+1)(x+3) 0.5
2.a | Areaof ABC :M;xz +4x+3:M:,(x+1)(x+3) :M
2 2 2 0.75
so AH = x+3(0.25) + (0.25) + (0.25)
2b | AB? =(x+3)% +(x+1)% =2x% +8x+10 0.5
3a | (x+2)2-1=8(x+22?=9,x+2=3 ou Xx+2=-3
So x =1 since x= -5 not accepted(0.25) + (0.5) + (0.25) 1
.~ AH 2 A o
sinB=—=—=0.89,s0B~63 ,(0.5) + (0.25 ,
3.b AB 5 (0.5) +(0.25) 0.75
Question 111
90
1 Number of students of A= 240x% =60 0.5
2 Number of students of B =240x % =40, Number of students of C=40(0.25) + (0.25) 0.5
3 Number of students of Cand E = 240x% =100 or another method... 0.25
L _ 20 40
Number of students who failed in A and B = 60x—— +15x— =18 (0.25) + (0.25)
4 100 100 1
Number of students who passed in A and B =100 — 18 = 82 students. (0.5)
X +y =100(0.25)
5.a 3x —y =180.(0.75) 1
5b | 4x =280, x=70and y=30(0.5) + (0.25) 0.75




Question IV

(€

1 0.5
A
H
(d)
1
B F
1
0
Fig.
2 = % X + 2is the equation of (AB)slope (0.5) + b(0.25) or(verificationof a point (0.25) 0.75
3.a y = - 2x is the equation of (OH) slope (0.5) + equation (0.25) 0.75
3b %x +2=-2XS0X= 34 ety =2(0.5) + (0.25) 0.75
4.a Xp =xp = —4etyp =—2xp = —2(—4) = 8 thereforeE(—4;8)(0.25) + (0.25) 0.5
ab — V16 ¥ 64 = 45 ; HE = /i = 19%5(0.25) + (0.5) 0.75
16\/5
5 (d) // (AB) so : (Thales )so: E = F = —//(0 25) + ratio(0.5) + (0.25) 1
Question V
| |
1 ‘ 0.25
2.a | IEB=IEA=90"s0 IEB+IEA =180° therefore the 3 points are collinear. 0.5
2.b | By applying Pythagorean AB”=100 then AB=10. 0.5
—IB — BE
3.a | cosIBA :—in triangle IBA, andcosIBA:—in triangle IBE.(0.25) + (0.25) 0.5
IB BE 6
3.b TR ?thenBE =3.6(0.25) + (0.25) 0.5
3c AE = AB - BE =6.4(0.25) 05
' By applying Pythagorean in triangle IAE we get IE?= 23.04 therefore IE= 4.8(0.25) '
Aa BEF = BEI=90°0.25)+(0.5) 0.75
' BFE =IBE having same complement EBFso the two triangles are similar. '
4.b 0.5
5 Locating point L, AIBLis a rectangle,A, E, L and F are on the same circle of diameter 1

[AF](0.25) + (0.25) + (0.25) + (0.25)
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